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an =
1
L

ˆ L

−L
f(x) cos

(nπx

L

)
dx n ≥ 0,

bn =
1
L

ˆ L

−L
f(x) sin

(nπx

L

)
dx n > 0. �����
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f(x) =
a0

2
+

∞∑
n=1

[
an cos

(nπx

L

)
+ bn sin

(nπx

L

)]
.
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 ��� �� �����
� �" cos
(

mπx
L

)


� �
�� m > 0 ���

����������� 
�� ����

ˆ L

−L
f(x) cos

(mπx

L

)
dx

=
ˆ L

−L

a0

2
cos

(mπx

L

)
dx +

∞∑
n=1

[
an

ˆ L

−L
cos

(mπx

L

)
cos

(nπx

L

)
dx + bn

ˆ L

−L
cos

(mπx

L

)
sin

(nπx

L

)
dx

]

= 0 +
∞∑

n=1

[anLδm,n + 0] = Lam
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������� ��� ��� f(x) = x 
� [−π, π]. &��� 
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an =
1
π

ˆ π

−π
x cos(nx)dx = 0

���

bn =
1
π

ˆ π

−π
x sin(nx)dx =

2
n

(−1)n+1
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f(x) = 2
[
sin (x)− 1

2
sin (2x) + · · ·

]
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bn =
1
L

ˆ L

−L
f(x) sin

(nπx

L

)
dx = 0.

��� �	
 n > 0�

an =
1
L

ˆ L

−L
f(x) cos

(nπx

L

)
dx

=
1
L

ˆ 0

−L

(
1 +

x

L

)
cos

(nπx

L

)
dx +

1
L

ˆ L

0

(
1− x

L

)
cos

(nπx

L

)
dx

=
2

n2π2
(1− (−1)n)

=
4

n2π2
	�� n

= 0 ���� n
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����������� a0 = 1� 	
� �
����� ������ ��

f(x) =
1
2

+
4
π2

[
cos

(πx

L

)
+

1
9

cos
(

3πx

L

)
+ · · ·

]
.
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f(x) =

{
0 x ∈ [−L, 0]
1 x ∈ [0, L]

	
� �
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�������� ���

a0 = 1, an = 0

bn =

{
2

nπ 
�� n

0 ���� n

	
� �
����� ������ ��
1
2

+
2
π

sin
(πx

L

)
+

2
3π

sin
(

3πx

L

)
+ · · ·

�������� �� x = 0 ������ 
�� � ����� 0.5 �
��
 �� ����� �
 [f(0+) + f(0−)] /2�


�����
 ��	 �� � ���	
��� f �� [−L, L] �� ������ ��
�������� 
��
 ��

ˆ L

−L
|f(x)|2 dx

����
�� 
��� 
�� ������� ������ �� f 	�������� 
� f �����
 �����������

� 



����������	 
������ 
�����

������������ cos x = [ex + e−x] /2 ��	 sin x = [ex − e−x] /2i
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f(x) =
a0

2
+

∞∑
n=1

[
an cos

(nπx

L

)
+ bn sin

(nπx

L

)]

=
∞∑

n=−∞
cn exp

(
i
nπx

L

)

�����

cn =

⎧⎪⎨
⎪⎩

1
2 (an − ibn) n > 0
1
2 (an + ibn) n < 0
a0
2 n = 0

��


cn =
1

2L

ˆ L

−L
f(x) exp

(
−i

nπx

L

)
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������� ��	 ����������� 
������ ���������� 
�� ���������� 
������� ��� ����� ��

c0 =
1
2

c2n = 0

c2n−1 =
2

(2n− 1)2π2
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 ��� 
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���������� ��� ����� �� ωn = nπ/L� ���� L → ∞
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cωn =
ˆ L

−L
f(x) exp (−iωnx)

!!



���� ��� ����	�� 
��	�
 ����
�


f(x) =
1

2L

∞∑
n=−∞

cωn exp (iωnx)

���� ��� ∆ω = π/L� ����

f(x) =
1
2π

∞∑
n=−∞

cωn exp (iωnx) ∆ω

→ 1
2π

ˆ ∞
−∞

c(ω) exp (iωx) dω �
 L→∞
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 �� f(x)� �� 	
 ������� �
 c = F (f)� �	������ ���� ����
 ����� ����	�� ����
���

�	�������� �� ����	�� ��� ���
��� ������ 2π �	��������� �� ��	
 ����� ����	�� ����
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c(ω) =
1√
2π

ˆ ∞
−∞

f(x) exp (−iωx) dx

f(x) =
1√
2π

ˆ ∞
−∞

c (ω) exp (iωx) dω.

������� ��	  �� f(x) = 1 ��� |x| ≤ a� ��� 	
 ! ������	
�� �� g 	
 ��� "� �� f � ����

g(ω) =
1√
2π

ˆ ∞
−∞

f(x) exp (−iωx) dx

=
1√
2π

ˆ a

−a
exp (−iωx) dx

=
2a√
2π

sin (ωa)
ωa

�a a
x
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������� ��	 ��� f(x) =
√

a/π exp[−ax2]� �� g �� ��� 	
 �� f � ���


g(ω) =
1√
2π

ˆ ∞
−∞

f(x) exp (−iωx) dx

=
1√
2π

√
a

π

ˆ ∞
−∞

exp
(−ax2 − iωx

)
dx

=
1√
2π

√
a

π
e−ω2/4a

ˆ ∞
−∞

exp

(
−a

(
x +

iω

2a

)2
)

dx

=
1√
2π

exp
(
−ω2

4a

)
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��� �������� f ����

ˆ ∞
−∞

|f (x)|2 dx =
ˆ ∞
−∞

|g(ω)|2 dω.
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 �
�
	� �����	
��� �������� f ��
� ��

��	�
����� �� ������ ��
� �� ˆ ∞
−∞

|f(x)|2dx = 1

� ���

µf =
ˆ ∞
−∞

x|f(x)|2dx

σ2
f =

ˆ ∞
−∞

(x− µf )2|f(x)|2dx

µg =
ˆ ∞
−∞

ω|f(ω)|2dω

σ2
g =

ˆ ∞
−∞

(ω − µω)2|f(ω)|2dω

���� σfσg ≥ 1
2 �
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������� ��� ��� f(x) = (a/π)1/4 exp[−ax2/2]� ����
ˆ ∞
−∞

|f(x)|2dx = 1

���	
��� µf = 0 	�


σ2
f =
ˆ ∞
−∞

x2|f(x)|2dx =
1
2a

�� g �� ��� �� �� f � ����

g(ω) =
(

1
πa

)1/4

exp
(
−ω2

2a

)
.

���� ��	� ˆ ∞
−∞

|g(ω)|2dω = 1

��� µg = 0. ����

σ2
g =
ˆ ∞
−∞

ω2|g(ω)|2dω =
a

2

�����

σfσg =
1
2
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